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| Step 1 | CONCERN - What's the GAP? | [ Step 3 [ CAUSE - Investigate and find the root causes?
1.1 Background 3.1 Direct Cause Investigation 3.2 Data to Prove the Direct Causes
- Why are you tackling this problem and why is it important? Mother Nature Machine Man Q Problem

- How would you introduce this problem to someone else?
Use a graph, a sketch or a photo to

- Where did the problem come from? help explain the Background....
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- Scope of the subject/problem?

- What would happen if you did nothing or impact to the business? /

NEm

D [

1.2 Clarify the Problem - Gap 1.3 Gap Analysis U
Direct Causes:
Measurement Method Material Problem |- Have cause/effect relationship on
Problem to Pursue: . the problem.
State the 3.3 Root Cause Investigation - Light switch test.
Gap! Analyse the Gap to find . L Proven with data or experiment.
the Problem to Pursue Problem to Pursue Timeframe
WHY? @ Therefore e
Pareto graphs can be @ Characteristics of a Root Cause:
useful to help find the ELE Ul DIRECT CAUSE DIRECT CAUSE - It does not blame anyone.
Problem to Pursue. wHY? 8 Therefore - You can do something about it.
- It will change the way you do things
becAusE 2 in the future.
WHY? 8 Therefore - It is not to re-train someone !!
Standard Sctu rr(ta_nt Can you break the Gap down further to understand problem more beCAUSE ROOT CAUSE 1 ROOT CAUSE 2 - It will Stop the Problem.
ituation e.g. by time, shift, product, process, reason... S
| Step2 | CONTAIN - Can we stop the problem now? | [ Step 4 [ COUNTERMEASURE & CONFIRM - Did we close the GAP?
Who: 4.1 Countermeasure Plan
0: CIearly visualise the result of the Containment Root Cause # Countermeasure Action Who When Impact |
activity to show that it is working.
What: 1
Quantify
] Use the 5W's 2H's to | /\ /\ the impact
Where: clearly explain what the Standard /\ > on the
Containment activity is. ‘ ) problem.
When: List the Root Number and list the Countermeausre Actions, who will do them,
Causes. when they will be completed.
. Show when
Why: N
Containment started 4.2 Confirm Results
How: so you know it is
' working. Direct Causes Gap Closure Results Evolution - Sustainment
How Much: Standard
(T°°°°7 \
2.1 Containment | :
1
1
N
1 - 1
Does the Containment 1 | D D D
activity have any other Containment 1 +
impact/consequence? . VN
Do you need to track or Result: Standard Current Show when Show when

Situation Countermeasures Containment

Has it closed the
Gap for now?

implemented removed

Summarise the results

Show results to demonstrate that

the Direct Causes have been Show how much the Gap What did you learn....
Standard Current eliminated has been closed. Yokoten/Look across...
Situation mi . What will you do next..




